
Section 3
There are 6 white rabbits and 4 
brown rabbits in a pet shop.

How many rabbits are there 
altogether?

Year 2 Autumn 2 Maths Activity Mat 4

Section 1
Imagine a cube.

What 2D shape is every side 
of a cube made from?

Tick the box.

triangle     square    rectangle 

Section 5 
Show how this number statement could be written 
in a different way but with the same answer.

4 + 10 = 14

Section 2 
What is ½ of 6 counters?

Section 4 
Tick which unit you 
would measure the 
weight of a bag of sugar.

millilitres

centimetres

grams

Section 8 
Circle the largest amount of money 
in each group:

a) 20¢    or    25¢

b) $1    or    50¢

Section 7 
If there are 4 chickens in a field, 
how many legs will there be 
altogether?

Section 6
Count on:
    6, 8, 10,          ,          , 
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Section 3
There are 6 white rabbits and 4 
brown rabbits in a pet shop.

How many rabbits are there 
altogether?

Year 2 Autumn 2 Maths Activity Mat 4 Answers

Section 1
Imagine a cube.

What 2D shape is every side 
of a cube made from?

Tick the box.

triangle     square    rectangle 

Section 5 
Show how this number statement could be written 
in a different way but with the same answer.

4 + 10 = 14

Section 2 
What is ½ of 6 counters?

Section 4 
Tick which unit you 
would measure the 
weight of a bag of sugar.

millilitres

centimetres

grams

Section 8 
Circle the largest amount of money 
in each group:

a) 20¢    or    25¢

b) $1    or    50¢

Section 7 
If there are 4 chickens in a field, 
how many legs will there be 
altogether?

Section 6
Count on:
    6, 8, 10,          ,          , 12 14 16

8 legs

3 10

10 + 4 = 14
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Section 3
There are 2 hamsters, 4 rabbits 
and 3 chinchillas in a pet shop.

Write a number sentence to work 
out how many animals there are 
altogether.

Year 2 Autumn 2 Maths Activity Mat 4

Section 1
Imagine a cylinder.

What 2D shape is at each 
end of a cylinder?

Draw the shape here.

Section 5 
Show how these numbers can be written as a 
subtraction number sentence.

20 + 4 = 24

Section 2 
What is ¼ of 8 counters?

Section 4 
Tick which unit you 
would measure the 
height of a tree in.

metres 

millimetres 

litres 

Section 8 
Circle the largest amount of money 
in each group:

a) $1.20    or    $12.10

b) 55¢    or    35¢

Section 7 
If there are 5 sheep in a field, 
how many legs will there be 
altogether?

Section 6
Count on:
25, 27, 29,          ,          , 
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Section 3
There are 2 hamsters, 4 rabbits 
and 3 chinchillas in a pet shop.

Write a number sentence to work 
out how many animals there are 
altogether.

2 + 4 + 3 = 9

Section 1
Imagine a cylinder.

What 2D shape is at each 
end of a cylinder?

Draw the shape here.

Section 5 
Show how these numbers can be written as a 
subtraction number sentence.

20 + 4 = 24

Section 2 
What is ¼ of 8 counters?

Section 4 
Tick which unit you 
would measure the 
height of a tree in.

metres 

millimetres 

litres 

Section 8 
Circle the largest amount of money 
in each group:

a) $1.20    or    $12.10

b) 55¢    or    35¢

Section 7 
If there are 5 sheep in a field, 
how many legs will there be 
altogether?

Section 6
Count on:
25, 27, 29,          ,          , 31 33 35

20 legs

2

24 - 20 = 4  or  24 - 4 = 20

Year 2 Autumn 2 Maths Activity Mat 4 Answers
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Section 3
There are 4 rabbits and 5 
guinea pigs at a pet shop.

One rabbit and 2 guinea 
pigs were sold.

How many animals are 
left?

Year 2 Autumn 2 Maths Activity Mat 4

Section 1
Look at this 3D shape.

Which two 2D shapes 
are used to make this 
3D shape? Draw them 
here.

Section 5 
Change the addition number statement to two 
subtraction statements. 12 + 20 = 32

Section 2 
What is ⅓ of 9 
counters?

Section 4 
Match up which unit you 
would use to measure these 
objects.

amount of milk		      kg 
in a glass      

length of a hose		      ml

weight of some wood	     m

Section 8 
Put these amounts of money in order 
from smallest to largest:
$1.20, $12.10, 35¢, 55¢

Section 7 
If there are some sheep in a field 
and I count 20 legs altogether, 
how many sheep must there be?

Section 6
Count on:
12, 17, 22,          ,          , 
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Section 3
There are 4 rabbits and 5 
guinea pigs at a pet shop.

One rabbit and 2 guinea 
pigs were sold.

How many animals are 
left?

Section 1
Look at this 3D shape.

Which two 2D shapes 
are used to make this 
3D shape? Draw them 
here.

Section 5 
Change the addition number statement to two 
subtraction statements. 12 + 20 = 32

Section 2 
What is ⅓ of 9 
counters?

Section 4 
Match up which unit you 
would use to measure these 
objects.

amount of milk		      kg 
in a glass      

length of a hose		      ml

weight of some wood	     m

Section 8 
Put these amounts of money in order 
from smallest to largest:
$1.20, $12.10, 35¢, 55¢

35¢, 55¢, $1.20, $12.10

Section 7 
If there are some sheep in a field 
and I count 20 legs altogether, 
how many sheep must there be?

Section 6
Count on:
12, 17, 22,          ,          , 27 32 37

5 sheep

3 6

32 - 12 = 20 32 - 20 = 12

Year 2 Autumn 2 Maths Activity Mat 4 Answers
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